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his wife is alive after 25 years is 2/3. Find the probability that
(1) Both will be alive after 25 years.
(i1) Only the man will be alive after 25 years.

Time: 2 Hours Marks: 50
Note: Mark’s | CO | BL
1. Question number Q1 is compulsory
2. Attempt any two questions out of Q2 to Q5
Ql Attempt any 4 from a to
a. Locate the mode for the following frequency distribution. [5] CO1 | BLS
C.I 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55
Frequenc | 8 12 20 25 15 12 8
y
b. Calculate Spearman’s rank correlation for the following data. [5] CO2 | BL3
Student A B C D |E F G H
Marks in 52 34 47 65 |43 |34 54 65
TEST 1
Marks in 65 59 65 68 |82 |60 57 58
TEST 2
c. Let X be a random variable with following probability distribution function [5] CO4 | BL3
X 0 1 2 3 4 5 6 7
PX) |0 K 2K 2K 3K K* 2K [ 7K+
K
1) Find K
i1) Evaluate P(X<6),P(X>=6) and P ( 0<X<5)
d. A die is rolled 3 times. What is the probability of [5] CO3 | BL5
(a) No fives turning up?
(b) 3 fives?
Q2.a | Calculate Bowley’s coefficient of skewness for the following distribution. [8] COl1 | BL5
X 10-15 | 15-20 | 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50
f 2 5 7 13 21 16 8 3
b. The life Of a certain kind of electronic devices have a mean life of 300 hours [7] CO5 | BL3
and standard deviation of 25 hours. Assuming that the distribution is normal,
(1) Find the probability that any of these electronic devices will have a
lifetime of more than 350 hours.
(i)  What percentage will have lifetime between 275 and 325 hours.
[Given that P (0<Z<2) = 0.4772, P (0<Z<1) = 0.3413]
Q3.a | Find the regression of Y on X for the following data. (8] CO2 | BLS
. X 1 3 4 6 8 9 11 14
Y 1 2 4 4 5 7 8 9
b. The probability that a man is alive after 25 years is 3/5 and the probability that | [7] CO3 | BL3
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Q4.
a. We are given a box containing 5000 IC chips, of which 1000 are manufactured | [8] CO3 | BL3
by company X and rest by company Y. Ten percent of the chips made by
company X and 5 % of the chips made by company Y are defective. If a
randomly chosen chip is found to be defective, find the probability that it comes
from company X.
b. The joint distribution function of X and Y is given by [7] CO4 | BL5
fxy (x,y) = 2-x-y, 0<x<1,0<y<1
= (0, otherwise
Find
(1) Marginal density function of X and Y
(11)Conditional densities function of X and Y
Q5
a. The following table gives the Expected frequencies in tossing a die 120 times [8] CO6 | BL2
are given below. Test the hypothesis that the die is fair.
No. 1 2 3 4 5 6
observed
Frequency | 17 14 20 17 17 15
( Given for 5 degrees of freedom at 1% level of significance , the table value of
2 is 15.086)
b. The mean and standard deviation of 200 items are found to be 40 and 15 | [7] CO1 | BL5

respectively. At the time of calculation two items were wrongly taken as 34 and
53 instead of 43 and 35. Find the correct mean and standard deviation.
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forare. o7& T e shY foraor | 31T,

(i) TTART HIVCATET TRk SUHAVTIHER SIS 350 AL ST Fe5 STaed AT HAToAelm
e,

(if) 275 T 325 qTET=AT S foht Zeh SIS 3T,

[fat P (05 Z< 2) = 0.4772, P (0SZ51) = 0.3413]

Ae5: 3 A TOT: Yo
[ALE Mark | CO | BL
1. I ShHTeR Q1 AT TR,
2. Q2 @ Q5 WefTeT THIVTAET S T T=eT Rl
Q.1
a. | @rcfiet aRaRaAT faawoTmaTdt 7T e, [5] | CO1l |BL5
C.I 20-25 | 25-30 | 30-35 | 35-40 |40-45 |45-50 | 50-55
Frequency | 8 12 20 25 15 12 8
b. | WTciicl SIS THeRA =T o YEREHsET= TUMT 3. [5] |CO2 | BL3
Student A B C D E F G H
Marks in 52 34 47 65 |43 |34 54 65
TESTI
Marks in 65 59 65 68 82 60 57 58
TEST 2
c. | @rciiet STt foaur SwrEHE T U ATg s selued 2l . [5] |CO4 |BL3
X 0 1 2 3 4 5 6 7
PX) |0 K 2K 2K 3K K’ 2K> | 7K*+K
i) K S
ii) T U P(X<6),P(X>=6) and P ( 0<X<5)
d. | U BT 3 o3 Rt STTaT, STeIdT i 37T, [5] |CO3 |BL5
(i) 9T ATeY JoTef} Srerr feheft 3TTR.
(ii) 3 J3T U AvAT=A FrerrAT fohell TR,
Q.2
a. | Gl foreRuTrETaY Siieii=an ST Tuliehi=il TorT 3. [8] |COl | BLS
X 10-15 | 15-20 | 20-25 |25-30 |30-35 |35-40 |40-45 |45-50
f 2 5 7 13 21 16 8 3
b. | T fATRTE Yo Soiargi+eh SUSRTOT=! ST FEUTS! 300 qTeiel ST ST(0T 25 AT ST [7] | CO5 | BL3
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R FhIAT TS 43 M7 35 ST 34 ST 53 FeUM Hded T, I HEAw HT(OT A
forerer sme..

Q3.
a. [8] | CO2 | BL5
@ﬁamxmyéuﬁﬁasﬁw
X 1 3 4 6 8 9 11 14
Y 1 2 4 4 5 7 8 9
b. | 25 Fui-aX ATV e TR AT SHTSAT 3/5 3T ST 25 AR =l Teeit e 318 & [7] | CO3 | BL3
VTS 2/3 TR, HHTT ST
(i) SEET 25 iR fSferd STadia.
(if) eTes 25 Fui-erer HTopE forefd T,
Q4.
a. | ST 5000 T food 31deiel Ush Sl SUaTd ATl 378, Saeht 1000 =T X i @) | [8] | CO3 | BL3
el TR SATOT Rt Y. Sl TR seretedt 10 2ok fred AT shu) o it sHfereten 5
ZFh <9 T TR, AGreaHTul Hagare! fod HelY sTHear HIeaedd, -l T Hed
JUTA ITRTAT ST,
b. | T ST AR = TG Toror FR fot TS £ (x,y) = 2-x-y, 0SxS1,0Sy<1 [7]1 | CO4 | BLS
=0, 3IIAT
e
(i) x ST y = Ffurea =TT 1,
(ii) XA Y = |1t Tt i,
Q5
a. | Gcdier ARt 120 oot STE e ufard fraa=dt o0 @relt fiet 3172, Teer ane o118 a1 [8] | CO6 | BL2
EZRECiEIC IR
No. observed | 1 2 3 4 5 6
Frequency 17 14 20 17 17 15
( Given for 5 degrees of freedom at 1% level of significance , the table value of X’ is 15.086)
b. | 200 &= FUELT ST FHIOM foRier STIsRH 40 ST 15 EAT ST, THTAT 98t & | [7] | CO1 | BLS

3 3K 3k 3k K K 3k %k K 3k 3k K 3k k k k k
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